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M.Com. DEGREE EXAMINATION, NOVEMBER 2015.

I YEAR — II SEMESTER

Paper V –– ADVANCED COST ACCOUNTING
Time : 3 hours           




Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. Define cost accounting.

2. What is process costing?

3. What is “Job costing”?

4. What do you mean by operating cost?
5. What is cost Audit?

6. What do you mean by cost reduction?

7. Calculate Prime Cost :   Factory Expenses -  ` 10,000; Selling Expenses -  ` 5,000;                 Direct Material -  ` 20,000; Office overhead –  ` 7,000; Direct Labour –  ` 15,000 and                     Direct Expenses -  ` 3,000.

8. The cost of production of 40 units consisting of materials  ` 1, 500; Labour Rs. 1,300 and Overhead  ` 164. The normal waste is 5% of input. Show the process account.

9. Prepare a job cost sheet: Material  ` 2000; Labour  50 hours @  ` 10 per hours; Works Overhead 100%  of  wages; Office overhead 60% works cost; Profit 20% on sales.

10. Calculate the passenger kilometer covered by a fleet of 4 taxis run by PRP. Travels from Hyderabad to Bhuvanagiri (45 Km) and back 4 trips each day with 5 passengers on an average on each vehicle for the month of April 1992. 
11.  From the following particular, prepare operation cost sheet.

	             Particular
	

	Total units generated
	20,00,000 K.W.H

	Opening Labour (`)
	50,000

	Repairs (`)
	50,000

	Lubricants (`)
	40,000

	Plant supervision (`)
	30,000

	Administration overhead (`.)
	20,000


         Coal consumed per K.W.H=2.5 kgs., at ` 0.02 per kg.

         Depreciation at 5% on capital cost of  ` 20,00,000 per annum. 

12. How much profit, if any, you would allow to be considered in the following Case;

	       Particular


	               Rs.

	Contract cost


	5,60,000

	Contract value
	10,00,000

	Cash received
	5,40,000

	Uncertified work
	60,000


Depreciation made from bills by way of security deposit 10%. Calculate Work Certified.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.
13. What are the essential requisites of a good costing system?

14. Distinguish between cost control and cost-reduction?

15. From the following figure prepare a reconciliation statement between cost and financial  records;

	                                   particular
	          `

	Net profit as per financial records
	1,28,755

	Net profit as per costing records
	1,72,400

	Work overhead under-recovered in costing
	3,120

	Administrative overhead recovered in excess
	1,700

	Depreciation charged in financial records
	11,200

	Depreciation recovered in costing
	12,500

	Interest received but not included in costing
	8,000

	Obsolescence loss charges in financial record
	5,700

	Income tax provided in financial books
	40,300

	Bank interest credit in financial books
	750

	Store adjustment (credit in financial books)
	475

	Depreciation of stock charge in financial books
	        6,750


16. 
Units Input into process I : 5,000

      
Units completed and transferred to Process II : 3,000

      
Estimated normal loss 20% of input

      
Work-in-progress at the end 1,000 units 

      
Stage of completion: Material 100%

      
Labour and overhead 20%

      
Process costs:

      
Material  `  50,000; Labour  `  48,000; Overhead  ` 48,000

      
Prepare the necessary statement and the process account concerned.

17. 
From the following information relating to the manufacturing of a products in a cost     centre, prepare a cost sheet showing both production and setting up costs, total and per unit, when the batch consists of 200 units:

 
Cost of materials 12 paise per unit;  Operator’s wages  `  1.44 an hour

Machine hour rate  ` 3.00;  Setting up time of the machine 4 hours and 40 minutes Manufacturing time 20 minutes per unit.

18. 
Compute cost per running kilometer from the following data of a Truck.

       
Estimate life of vehicle 1, 00,000kms.

      
Annual running 15,000kms.

	
	 `        P.

	Cost of vehicle
	25,000.00

	Road licence (Annual)
	     750.00

	Insurance (Annual)
	     700.00

	Garage rent (Annual)
	     900.00

	Supervision & Salaries (Annual)
	  2,700.00

	Driver’s wages per hour
	         3.00

	Cost of fuel per liter 
	         3.00

	Repair and maintenance per  k.m.
	         1.75

	Tyre allocation per k.m.
	         0.90


Charges  interest at 5% per annum on cost of vehicle. The vehicle runs 20kms. Per hour on an average and one litre of fuel gives 20km.

19. 
Ranju Travels, a transport company is running a fleet of six buses between two towns 75 kms. a part. The seating capacity of each bus is 40 passengers. The following particulars are available for the month of April 2007.

	
	              `

	Wages of Drivers & Conductors etc.,
	3,600

	Salaries of office and supervisory staff
	1,500

	Diesel oil etc.,
	10,320

	Repairs and maintenance 
	1,200

	Taxes and insurance
	2,400

	Depreciation
	3,900

	Interest and other charge
	3,000


        
The actual passengers carried were 80% of the capacity. All the buses run all the days in the month. Each bus made one round trip per day. Find out the cost per passenger kilometer.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.
20.
On 15th  August 1991 a manufacturer Shankar desired to quote for a contract for the supply of 500 radio sets. From the following details prepare a statement showing the price to be quoted to give same percentage of net profit on turnover as was realized during 6 month ending on 30th June 1991:

	
	   `

	Stock of material as on 1st Jan. 1991
	20,000

	Stock of material as on 30th June 1991
	25,000

	Purchase of material during 6 months
	1,50,000

	Factory wages during 6 months
	1,20,000

	Indirect charges during 6 months
	25,000

	Opening stock of completed sets
	Nil

	Closing stock of completed sets
	100

	Sales during 6 month
	3,24,000


The number of radio sets manufactured during these six months was 1450 sets including those sold and those stocked at the period.  The radios to be quoted are uniform quality and size as were manufactured during the six months to 30th June 1991. As from 1st August , the cost of factory labour has gone up by 10%.

21. 
The product of a manufacturing concern passes through two processes ‘A’ are ‘B’ and then to finished stock. It is ascertained that in each process normally 5% of the total weight is lost and 10% is scrap which from processes A and B relieses Rs. 80 per ton and Rs. 200 per ton respectively. The following are the figures relating to the process:

	particular
	Process A
	  Process B

	Materials in tons
	1,000
	70

	Cost of materials per (`)
	125
	200

	Wages (`)
	28,000
	10,000

	Manufacturing expenses(`)
	8,000
	5,250

	Output (tons)
	830
	780


Prepare process cost accounts showing cost per ton of each process. There was no stock or Work-in-progress.

22. 
The following is the information relating to Contract No.123

	
	                `

	Contract price
	6,00,000

	wages
	1,64,000

	General expenses
	8,600

	Raw materials
	1,20,000

	Plant 
	20,000


As on date, cash received was  ` 2,40,000 being 80% of work certified. The value of material remaining at site was  `  10,000. Depreciation plant by 10% prepare contract Account showing profit to be credited to P&L A/C.

23. 
The following cost data is available from the books of MDP. Power Co., Ltd. for 2009.

Prepare cost sheet showing cost of power generation per unit of K.W.H

	
	         `

	Operation labour
	16,500

	Plant supervision
	5,250

	Lubricants and supplies
	10,500

	Repairs
	21,000

	Administration Overheads
	9,000

	Capital cost 
	1,50,000


Total units of power Generated 15,00,000. Coal consumed per K.H.W for the year is 1.5 pound and the cost of coal purchased is Rs. 33.06 per metric ton Depreciation is at 4% per annum and the interest on capital is to be taken at 7%  per annum.
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